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(LI " s VAR il = fE 3 - 4 166,378 38,894 27,459 3,394 206,392 62,569
Boug AT = 7 - 1 176,401 27,125 10,860 986 136,101 27,732
I TIRVAR -3 = fF| 3 1 7 91,889 27,416 9,682 768 137,837 44,106
i VAN I i E - 1 3 19,800 6,616 1,798 214 20,204 9,478
C I TRV % = - 1 3 20,619 6,602 390 97 11,417 5,486
LG I TR VA ol i} = fE 1 1 2 22,855 7,284 757 164 12,572 4,506
5 o E LA g X E A 4 - 3 116,639 28,181 11,988 2,232 97,860 30,606
5 o FEH 3 W X E A - - 4 33,922 9,457 * * 33,677 11,571
G5 o FE 1 a7 AR 1 X EAE 1 - 6 58,705 18,077 * * 72,650 33,817
= B W i i 15 - 13 354,670 82,288 44,199 7,118 721,992 214,080
= B ST X E AR R 4y AR 2 - 3 39,507 13,599 * * 143,926 61,533
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F SO TRRVAR -l N = £ 4 - 8 168,021 48,733 32,566 2,511 212,880 79,880
WBE R b 7 — X &= - - 3 24,645 11,507 * * 58,649 29,138
FZE S TR VA = fF 19 - 33 482,349 119,363 152,466 - 1,046,365 355,735
BHE WS P H = fE - - 3 32,467 10,977 804 - 18,020 5,250
- R TERVAN S B = fF 15 - 41 717,396 187,878 140,795 10,843 1,442,733 389,178
H oS oW BT 2 - 8 115,803 38,693 - - 311,110 115,837
g + W 3 B = fE 1 - 5 69,142 30,395 - - 125,167 53,495
g5 + W s g + 3 JH 1 - 5 107,550 35,858 7,080 1,034 137,834 51,495
=R YA IS E 12 - 17 436,990 120,840 97,524 9,911 792,244 280,771
B E R X E AR 2 - 3 71,289 23,151 * * 116,581 38,156
g+ = d a2 )l = fiF] 2 - 2 32,140 12,444 - - 9,841 -
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i ) T ST g (X S AE 5 Fn 4y fiE 2 - 3 31,811 10,210 840 - 72,903 -
# [ T ST 4 52 BT E 4 - 21 138,280 21,268 29,448 - 475,817 -
i I VYA = fE 2 - 5 106,116 39,153 7,428 - 162,643 -
T I TR VAN e 1 = fE 4 - 14 281,603 70,016 36,253 - 961,599 -
i A TRV i I = £ 2 - 7 177,007 39,938 14,780 - 460,867 -
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FiE T I VYA 1 = 2 - 6 114,058 47,357 11,166 - 331,973 -
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= I TR YA~ = fE 7 - 15 263,324 58,149 47,579 - 376,189 129,180
LS I TR VAR AN = fF 4 7 83,231 23,087 - - 137,091 59,614
B W sz I AR = fF 1 1 3 24,829 11,644 1,032 470 20,746 11,264
ez JE AR B = fF) 1 2 2 28,390 9,628 3,219 907 25,648 13,823
ez JE TR ST R = fF) 1 2 3 23,916 11,992 3,219 907 28,697 13,778
FizI =TT TR VA = fE 6 - 11 240,135 63,250 37,740 3,630 431,295 139,067
B9 )11 T 37 X & AE 45 1] 3C 3 1 9 130,292 35,892 22,965 2,088 186,130 90,603
ST LN TR AR N = fF 2 - 6 104,307 29,211 11,587 1,650 160,602 60,826
b2 L ER AL A G 8 - 12 310,554 85,829 16,493 - 566,423 250,026
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OIS KA X E 2 - 5 92,129 34,691 8,588 697 90,716 38,311
LT TRVA N S P 1 4 - 6 147,756 53,708 8,987 1,237 220,092 79,449
WP ok X OE 12 - 1 358,682 105,221 32,354 - 588,000 207,980
BN EKE 3 - 3 86,052 29,223 8,169 - 202,874 72,674
WL E R E 4 - 3 125,464 43,127 10,325 - 341,854 -
LR I TRVAR - = PO 1 4 - 6 142,770 51,163 11,207 - 241,992 99,482
W WAL B X E A 2 - 2 56,389 20,867 5,514 638 41,674 20,672
RIS RN F A 4 - 1 192,843 65,260 59,494 5,662 382,358 160,903
WL & WX E 3 - 3 81,473 29,935 12,057 - 130,800 65,123
I S VAR SR O P 1 4 - 6 176,473 53,538 25,711 2,624 292,978 133,027
W WL E X E A 2 - 5 108,040 28,033 10,915 1,240 126,034 55,121
e s o SE oo B Bl 1T / T 322,898 64,260 27,941 2,745 378,313 82,265
I N A ] & MW 3 / 3 65,511 18,087 9,058 1,132 177,858 60,193
I TRVAR' A AU 1 I v / 4 389,647 48,642 31,361 5,349 699,597 238,190
I N A ) & MW 3 / 3 61,113 17,434 9,539 1,781 230,419 90,394
I /A TRVAR I 3 / 4 68,890 17,079 13,642 2,575 268,142 96,854
e ko3 W E 3 / 4 76,158 18,120 15,030 2,805 295,748 103,465
I ko e E 3 / 4 81,743 18,509 16,270 2,631 281,042 91,035
e s i SEF By ROE A 3 / 3 58,012 16,710 8,417 1,804 175,560 70,578
T IRV P 3 1 3 / 4 68,745 16,955 12,921 2,465 252,862 90,093
g A B R 3 3 / 6 65,521 18,818 14,125 2,763 322,369 122,650
I A TS | A P 1 6 / 1 250,165 73,304 27,447 4,694 435,671 170,689
I A TR N N P 1 3 3 1 122,067 36,322 5,465 1,338 89,036 44,679
IRV IRVAS - TP o 1 3 / 3 74,629 19,977 7,869 728 69,074 28,280
TV EVAD P o 1 3 / 3 60,418 14,647 9,004 1,537 170,374 75,916
I VTV ERVAR NN 3 1 3 / 5 137,749 32,465 9,866 1,673 205,059 55,779
I T INVARG I 8 1 3 / 3 79,237 27,047 4,260 939 63,499 27,588
W Ar i S = B ME 3 / 3 83,659 21,032 5,336 690 91,062 25,709
I TRV (S S 2 2 / 38,887 13,146 1,297 288 12,718 5,326
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o H OB S Xk O F 1 - 2 26,635 9,082 4,136 946 41,673 19,958
MO ST L & MW 1 1 2 78,920 23,581 - - 89,156 42,351
fx e BTS2 & - - 2 32,754 13,497 5,423 610 38,280 15,392
[ A VA & MW 1 1 3 28,041 - - - 19,596 5,999
oK B S & 2 - 6 67,516 21,292 11,049 - 128,178 -
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N BTOSE & 2 1 2 103,253 23,397 16,071 - 68,856 33,525
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